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There are 150 objective multlplc choice questions in this paper. This Question Booklet ismade up of the n]l)w“[m
- five sections : Section-I, II, 1II, IV & V of 30-30 questions each. The candidate has to aftempt all sections. Each

question is of one mark. There is no negative marking for wrong answer.
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PAPER CODE : ST1-2012

Total questions : 150 Time period : 90 minutes Ma.ximum Marks : 150
No. of Question Nos. “__ge Nos.
Section Contents _Questions | From To | ifom | To
(1) Child Development and Pedagogy 30 1 30 '3 10
() Language I (Only One Language) 30 31 60 S ]

As’ selected by the candidate as medium of ' . T
instruction in the Online Application Form as
Language-l from the Languages given below :

Hindi 30 31 60 11 149
) English 30 31 60 15 18
3 Sanskrit 30 31 60 19 22
: : . Urdu 30 31 60 - 23 26
Sindhi 30 31 60 27 30
- Punjabi 30 31 60 31 34
) Gujarati 30 31 60 35 38
(I11) Language II (Only One Language) 30 61 . 90

As selected by the candidate as Language-lI ( other
than the = Language-l ) in the Online Application
Form [rom the Languages given below ©

— Hindi | 30 61 20 39 42

English 30 61 90 43 46

Sanskrit 30 61 90 47 50

"~ Urdu 30 61 90 51 54

Sindhi 30 61 90 55 58

Punjabi 30 61 90 - 59 62

oy Gujarati 30 61 90 63 66

{Iv) Mathematics . ' 30 91 120 67 78

vy Environmental Studies 30 121 150 79 90
Note : In Sections Il and Ill, a candidate has to attempt the questions of Languages compulsorily, selected as Language - | and

Language - Il in the Online Application Form. For Hindi version of the above Table & Note refer to Page No. 2
| Read the instructions in English & Hindi at Page No. 9&. last page of this booklet. |
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There are 30 questions in all in this section.
All questions are compulsory.
THEEHFA B0THE |
Qv g Afard ¥ |

1. Nine year old student's moral reasoning is based on :
L_(Jr)/'the physical consequences of an action determine goodness or badncss
(B) an action is judged to be right if it is instrumental in satisfying one's own needs
(C) obeying rules should bring some sort of benefit or return

(D)  the right action is one that would be carried but by someone whose behaviour is
likely to impress others.

o 74 & a1 Ak qE oM wt ¥

@) fodt w1 F ifaew ofom sast seor @1 qud ) fuifa Fw €

(B) -aﬁéwﬁaﬁmwmwﬁ*ﬁm%ﬁxwﬁwﬁ%ﬁaﬁm@mfﬁ Il
) THawi =1 e F & aga J $9 oy faemn =ifet

(D) Gﬁmaﬁ%@wmﬁﬁ%mmmﬁwwﬁmaﬁmﬁaﬂwﬁwﬁaﬂm
E _ |

2. Which of the following examples is not the result 0} motivation ?
(A)  Krishna has increased her time of dancing from one to two hours
(B) John Stuart Mill started studyihg philosophy from the age of 12
(C) Jagan has started to show interest in the 'process of breathing’

(D) Ram has progressed speedily in correlating the trends of modern and ancient
history. '

e & A -w 3T sfdon @ afoms 7@ ' 7 :
(A)  FOM T F A T U D G QA H e
Grhigaéfn%ffr 12 99t 39 H 9 F A A0 e o
{6 Euck mﬁ%ﬁﬁﬂ?ﬁﬁ@rﬂmwm+i%
(D) mﬁﬁﬁmgﬁm@mmmﬁwwﬁawﬁmﬁ%
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Which of the following will work as an effective praise by the teacher ?
(A) Focuses student’s attention on their own task relevant behaviour

(B) Uses the accomplishment of peers as the context for describing students’
present accomplishment

L}——medes information to students about their competence or the value of their

5.

accomplishment

(D)  Uses positive behavioural support when students seem unable to control their
behaviour.

= 1 & v gurEt weiE F w9 s & ol s s 2
(a) foenfefdi & sraum &1 39% w4 | TEfE AR W HHG Fa §
B faenfdai & ada F0 oo #1 37% ygr F o il F g afvfa war ?
(©  faenfefat 1 3991 dramstl siga &4 foed F @ R gEN M E |
%) mﬁ?eﬂaﬁaﬁmaﬁﬁqﬁﬂﬂmaﬂmﬁﬁmmmﬂ?m
) Al |
Which of the following is an example of learming ?
Grecting the teacher by folding hands
(B) Salivation on seeing the tasty food
(C)  Climbing, running and throwing between 3 to 5 years
(D)  All of these.
o1 § A WH- T IR SR F) weiia a7
(A)  T1Y SZ F AUAGE F AOERT FA
(B) Enfep e 2@ #3 4 ¥ oR & S
(C) =&, 9 TS TRl o9 § 9 oy i seeen §

W AT
Which of the following is least important in the process of thinking ?
(A)  Pictures (B) Signs and symbols
Muscular activities (D) Language.
fr=s & § F19- wmqﬁmﬁmwmﬂ% ?
@w a7, (B) wdrw Td fow
© wEedE e (D) o7 | )

The behaviour shomng intrapersonal intelligence is
(A)  detecting another's underlying intentions and desires '
(B) reading another's mood : ' _
discriminating among such similar emotions as sadness and regret
(D)  using knowledge of others to influence their thoughts and behaviours.
sadates afg #1 yeffa A T orEer
(A) TEK F A wt sEsiel wd W S ga e
(B) TE F g HI U
() o Jaa Fam g IS ud gwarE § 9 w9 _
M gEd F faunl @ saenl # ywfad $0 F 63 379 gafya SEERt 13990 HE

il L | (so1] .
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Which of the following strategies or implications is against the spirit of promoting
gender equity keeping in mind gender differences ?
(A)  Tell students that they can be successful in sterectypical subject area
(B) Assume that both genders have simiiar potential for developing physical and
motor skills especially during the elementary school years
(er— Provide support to boys in develeping self confidence in their ability to control
the world and solve problems
(D)  Teach both genders less aggressive and pro-social ways of interacting with each
other.
?ﬂﬁﬁaﬂ'—l Ht =g o/ Afuga HAfes sl 1 wRAeR v Afe wmar ) owe F faudia
?
(A) faenfiiat =1 s fe wfeag Twal § gwea sfes FT a6 §
(B) Ry faumedt aul 4 ds& vd asfFdl °§ while vd mHe wivel & fawm i e
TuH Bt §
aﬁﬁmﬁ%wmwmﬂmﬁmmﬁ%mwmmm
sedfavama fasfad #01 ¥ ford wedm wem &t
(D) aﬁmaﬁﬁaﬁmwmw@%mammm#mwﬁm
el 1 feaarn s |
A teacher can undcerstand community based individual differences within any group by
paying attention to .
(A) eye contact (B) irtelligence
- (C). language and expression . (D) homewor}:.
T e Rt off TqE o gqea snuifta safera fafieash # wog ga @
(A) @ & FOH & YR 97 B) Ffg F AU W
(4 s wd afireafs % sMuR W (D) T FM F AU R |
For nurturing creativity a teacher should keep his students
(A) task focused (B) goal focused
~(C) task focused and goal iocused (D) reward focused.
mﬂm%ﬁw%@wmwaﬁaﬁﬁmﬁiﬁﬁmm
L) =+ ¥z B @ Fza
C  *d Ffza @ @ Fsa (D) YR Ra |
Which of the following is not a characteristic of socially disadvantaged students ?

(A)  Experience child care practices that do not prepare them effectlvely for school
(B}  Does not receive regular health care

(C)  Are not exposed to a wide variety of experiences

(D) Are not motivated to do well in school.

e 3§ -G Fasvan grtse w9 @ dfad @i & faafe & @ § 2

e gt e el e
(©) = wE fafay sgyEl #1 W @ & e T e
(D) ﬁwaﬁmmﬁ%%ﬁﬁwﬁﬁaﬁ%mmr

Mﬁé@w%aﬂwﬁ%%ﬁﬂmﬂwwﬁﬁmqﬁm
forafira

L woi] - | (pro.
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11. Action research is different from basic research because

(A) it is conducted by teachers, educational managers and administrators

(B) it is conducted by researchers who have no relationship with school

() it is based on standard tools '

(D) it is based upon samples.

fFmeF wyEum wHifas s7aum | fim € #=A6ifF a7

seTTeRl, Hfersh FaEruwl TE e gr o s €

(B) wiruEws gR o s ® foe faemeg @ @ gy T @

(C) 7€ YHMFHa IUHT W i g ®

(D) & =gy W uifa g € |
12. In the action research, action

{A)  bypotheses are formulated on the basis of the causes of problems

(B) hypotheses are formulated on the basis of some rationale \

(C) hypotheses are formulated so that they can be statistically verified

(D)  hypotheses are not formulated.

[ERICERE IR

aTEE TR 1 fmi wwemstl & Fro W s ®
B) fFarms SuswegAs & Fmio fFet 78w foas w anuifa @
©) WW%WW@WMW%WWMWMW

(D) FRmrns Iqswegel &1 fmior &1 fFan s 4
13. In Naiional Curriculum Framework 2005, multi-lingualism is advocated to be used as a
resource because
(A) it is a way of ensuring that every child feels %afe
(B) no one is left behind on account of linguistic background
(C) it will encourage children to believe in themselves
(D) all of these. '
THIA weTEd ® @], 2005 H agW H UF HEHE F w9 ° wwdA fem mn @ FbifE
() 77 T aha § foad g e guia mege
(B) T guyfa % FRw R ot aee 1 7 gz 9™
(©) = serhl 1 A R favard & fod dewmes am
m“ﬁ q g4t |
14. Which of the following is not appropriate to understand science at upper primary
siage ?
(A) Observing things and recording observations
(B) Plotting graphs
(C)} Hands on experience
(D) [Learn the subject through abstraction.
ﬁmﬁﬁa‘h—maﬂmmmﬁm%%ﬁﬁsammwwmﬁ% ?
iA) a@aﬁmﬁmmamﬁﬁﬁwﬁ/aﬁm
B) Tafad a

Wﬁuﬂmm
P~ ardan & g1 fawg 1w o

WL 501 :
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15. Which of the following statements do not agree with multigrade teaching ?
(A)  One teacher manages more than one class at a time
{B)  Flexible sitting arrangement
(C) Interaction between and within grades
(D)  Students to be similar in terms of age and ability.
7 % 3 ®F-w wuA agie foaw yonedt & =iy veafq @l @@ ?
(A TH FATF TH T W OF A AE FEA F1 WA F@A T
(B) 37 & oI=tel Sqaw .
() fafum wenedl § wd w € wan A R
Wmﬁmmﬁmﬁ:mmmwml
16. In the cognitive development heredity establishes
(A)  the basic nature of physical structure such as brain
(B)  the development of physical structure
(C) . the existence of reflexes '
(D) all of these.
Harrees fasra § v fruifa w @
nfeeh SEt AR @9 % gayd WYE &l
(B) R d@=m & fawm #
(©) wHes yfdedi st & sifee ®
(T I
17. Which of the following statements is not correct ?

(A)  The teacher who believes that development is due to nature then for him
providing experiences is of no value

(B) Early experiences are important and teacher's interventions are also important
(C)  No teacher can help children in recovering from early negative events

(D) Development in terms of behavioural changes is caused by environmental
‘ influences.

frAaddsAn- s I =8 ?

(A) S IATE g favam wea @ fE faem gefa #1 99w @ @ €, 9% yd Yo &
(B) YRty 39 Ayl g0 § iR s o wraan ot wewrgl g @

V™ urfisrs Siaa & Aareds Seael & gura @ #15 ft Heaus o= 48 FT gl

(D) HFERTET Uada & g=d § faem adeEoia geEl % woasd g # |

18. Which of the following characteristics distinguishes maturation from learning ?

A) it is a natural process (B) It is dependent on practice
(C) It r®dependent on motives (D) It is a lifelong process.
fr & @ FiA- fadtvar aftosem 1 sfm | e wE & 2
7T U e uiEwa ¥ B, 9% ag R R
(C) =F W W R et ® (D)  I% Sfed w1 =o arelr fwa € 1

T soi] e
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19.

20.

8 | Y]
Which of the Tollowing statements is incorrect about development ?
(A)  The development pattern has certain predictable characteristics
(B)  The goal of development is the achievement of hereditary potential
(C) The areas of development are free from potential hazards
(D)  Early development is more critical than later development.

et 4 4w e fawma & ey ¥ w1 A ¥ 2
@) fowms gfaaEl it Fo fAfved fEdvmsd 5t afawamh w5t s awd @
(B) fa=m &1 32T AT TN Wl F1 faehTd A
¥ fafim &l ¥ worren W 72 e
(D) wRftvw faem o F faem ¥ sfus geaye &

Gang belonging leads to improved socialization in late childhood. Which of the following
statements is contrary to it ?

(A) Learns to be independent of adults
(B) Learns to carry out responsibilities
(C) Learns to be loyal to group

e Quarrels over most trivial matters and picks fight with gang members.

21.

22,

T a1 i &1 g B A uTEe ST aedEe) § 9l gl § |ﬁrﬁ{ﬂﬁaﬁﬂmmmm
foan & fagta & 2

@) FFE W AR A T 'Fﬁ'@ﬂ'l 2
B) feafEr &1 fsm s 2
(©) 9 9gg ¥ wfa awer B Hhaar ¥
P) BB TR W T FE g, A i F gewl @ e A d
In summative evaluation the purpose is to
find out how well a student has performed over time and at a variety of tasks
(B) facilitate learning and not to assign grades

(C) discover such a student who is having a difficulty in keeping with the rest of the
students :

(D)- know the progress to the next unit of instruction.

AAIF Yeaih Fl 3¢9 8 :

v Tua faere we fafim el @ ue faene 3 fear st freafea fea §, 1 W& S

B) AP H G A F AT 7 Y&GH FAT

() R faeneff &1 war e S o9 Wi % wRey wenfh H wfer sva @ @

(D) 3Tl TS o STRYA | Yo Wiifq &1 war &l |

Raju was afraid of rabbit. At first the rabbit was placed at a distance but gradually on
each successive day, the distance between Raju and the rabbit was reduced. The

rabbit was finally placed in his lap and he started playing with it. This experiment is
an example of

(A) trial and error learning theory (B) classical conditioning
(C) operant conditioning (D)  all of these.

[N o LY
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T @O | ST A1 | YE A @Y H Y FE Q@A | A e e § e 9wy
AR T & A9 H A FAFG W | o H U9 H MG H @O w W@ SR a9 ww |
e AW | FE WA ISR §

(A)  wIE wE A faga
[ st sem fagr &

(©) T yga sr=raA fagr= =1
(D) T |G |

23. The extrovert student differs from introvert student in which of the following
characteristics ?
(A)  Strong feelings, likes and dislikes
(B) Expresses feeling externally instead of suffering internally
(C) Absorbs in his own intellectual pursuits A
(D) Better in writing than speaking.
afgrwt famedt sradat faenef @ fog fadvar & s W i S € 2

T & T WAE T H ST S el st wa ©

(C) A9 difges wEl § gan w@a g
(D) e 1 7 foem § S | _

24. Which of the following statements is not true about intelligence ?
(A) It is the mental capacity of an individual
(B) It helps in adaptation
©) Itis judged in terms of the quality of behaviour
(D) It is permanent and unchanging characterstic.
A dd s s Ifg F an § g &1 § ?
(&) TE UF AfH F AAEE GHA €
(B) W€ WS / FIFEA wfud F § 9T §
(C) 9e =gaeR & o ¥ ! It &

L T T T srfadeier fed ¥

25. A balanced personality is one in which
(A) balance is established between Id and Super-ego
(B) balance is established between Id and Ego
(C) balance is established between Ego and Super-ego
(D) strong ego is maintained. :
(A) %€ UE 9 FEH F =" el e e e @
(B) 329 TS 31EY & =™ Sqer i fea s @
(C) 378" Ud WH 37eH & o4 e wfa o s €

\UD—"rsTea 31w = W

L] L [so1] _ | - IPTO.
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26.

27.

28.

29.

30.

10 3

Which of the following strategies will work for mentally retarded children ?
(A)  Explain tasks concretely
(B) Encourage students to set goals
(C)  Provide opportunities for self-study
(D)  Seek outside resources fDl’_‘ help.
HATEE €9 9 fTog el & fod = 9 @ «F-9 =ge w0 wd s 2
[t =1 3d w9 & Tz

B ﬁaﬁﬁﬁamﬁﬁﬁaw%wmﬂﬁm

(C) @397 & ATH e H

(D) werd % ford A | dweHAl FT 9W FE

Dance, drama & art are used for

(A) developmént of specific traits

(B) moulding personality

(C) an outlet for blocked and intolerable drives

1Dy all of these.

Iod, I U foeqeren &1 wan faan s @

(A) fafere 7o % fawm 79

(B) e=afdea &t @™ & fag

(C) aﬁmmaﬁmmmaﬁaa{wﬁwm%q
Lo =98 g adft

Difficulty in learning to read, spell & calculate, normal intelligence and good adaptivt
functions are the characteristics of _
(A)  slow learners (B) normal / average learners
(C) mentally retarded . (D) learning disabled children.
g, ared wd o § wieAE, 9w qfs T st Agerens avaar fasiear @
(A}t fq | diea gl $1 B w5
(©) W 9 ¥ gz el i B sifmm faafg amert @1 |
Difficulty in making the difference between fand v sound: for letters m and n is ¢
learning difficulty related to -
(A) attention (B) memory
(C) perception (D)  all of these. .
WS T, WUE TG F A SRR T F A, A g wated €
(&)  FEUE FHO R ' B wfa =t
UG gefiEwr Hit @1 T
According to the Right of Children to Free and Compulsory Education Act. 200¢

teachers cannot be deployed for
(A decennial population census (B) disaster relief duties
(C) mduties relating to elections ' (D)  pulse polio programme.

9w wd sifard fwien &1 Sernl &1 IfUsR, 2009 & o, fEdt ot steas &1 A H 9 fw
& & fod 7= oA s wehar ?

W T ad gvErd g9 9relt S 3 (B) Wmmﬁ

(€ & Tt w1 § \/ﬂ)l/wmwf?l-

(AR FOI -
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., . ' @Us - II
Hlndl— I vt
fe=<t
WETs § Fe 30T ¥
[ty 3ifradd ®

= e Y wge Frfafad weet (o = 318 37 ) ¥ wed 3t fawew g9fw .

T 9 fet A A F R A A A | o T e gEm @) fed
Al &1 A4 § IH HHG-FE FH A4, m%ﬁaﬁ%aﬁﬁmmmmﬁ-é% | 97 & 9
e ¥, sH 3 ¥ F fow ¥ | wifec-gfe @ o e o ® | <t e se3- am ¥ fer fen
m%mﬁwaﬁﬁ%ﬁﬂﬁﬁm,ﬁsﬁmﬁmﬁwmﬁm e, efgE, 3
AYT ETEE | FHR SUH e &1 G9R Sl €, 98 v & sem-fafa €

31. ‘wuyaEndfuar’ & o €

W@ﬁﬁmm | _ {B]"WWEEWW
- T @ HY STUE HE (D) ¥R ® qE |
32. ®F w= ifetn 7@ & 2 |

() e | B) mm

LISy Em : D) &=
33. @ T § g o’ maaﬂeaehﬁ%

(A)  AA (B) A
‘)9)— CE| (D) HfY9E |
34. FH UK THIET ¢ ?

(a) foa=ri | B) v

(o s (D) A |
35. ‘@wma’ M Ggaud € .

@  Fhd (B el

() formdl (D) fEE

(AN - so1] | po.
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36. ‘uim'magaﬁﬂ%
(A)  HEm
(C) w=m
37. ‘Hya-fafy’ w1 a4 &
@A) far e am
\)g/mﬂa?qaﬁﬁwﬁm

12 Y|

(B) urAfs
( ey |

B) w1 AW
L) O ea ffw

=1 i & g Frafafaa gel ( W 9= 38 9 44 ) W g9y 3fuqa fawey gfaw :

1 oft g g § Sfifad T @ TEar | SR ST Antl, HT uyed, st s, o oo,
A7Y U, 9 arEl, A Gl F AU BE-F-HE T HEE S Ted § o awafag i
wifag 8 | w1 ¥ fodt @ve favm § gare & gt weel & 9y foe - S[eree S sAaeen s g,
3 fi wv weer fret-eret Ta-dreeaR @91 70 § iR womE o § | T SR gE A
TN 4% STEH TS NS | qEd diet Fr d@ier snar ® '

38. frma d qoam o= €
() SEE
© @
39, fr= # fadef wsg
@ W
Lp_/%nwa
40. ‘S’ @ wAteret TE §
@) gt
ey faza
41. ‘Sifaa’ =1 faem
@A) oS
() sritfaq
42. W v § weam & ?
@
(©)  HE=L.
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43. ‘fra-v@' 99 = faue 7

W e e L pr— fr iR e

© Fa S (D)  wd A & T
44, fret i s

@) b B) @

N(o g c (D) =R |

45. gaor@ ¥ fFa wive w1 sfus fagm S g 2

\}y— AU G (B)  9rad F9v

(© =gau arA (D) @@ arEd |
46. aﬂ‘ﬂr’maﬁaﬂwqﬁ%?
() AEH F A (B ST
lCl. | SE SR (D)  =ATH T HH FH |
47. aﬁ‘i;qﬁmﬁaﬂaw% ' |
() ferverraa . B) =i
O faidEm ogc LN
Mg, e SRt ¥ , _
Waﬁaﬁmﬂﬂﬁﬁll B)  faeneff =t wen wufeafs s & |
(C) foenfefd % smemo W & D) TR
49. afg #7¢ faenedt srys fo@a € 1 30 0 IUER HA 2
@ Freme T : B sTErTeHs fHem
() wi-am | (D) AT |
50, I fird TFW AEA s FeEn & — 3@ A H fada &
@) A A B e
W"a@éﬁflﬁ%ﬂ% ' (D) =g 3= |
51. 'WeHl et &' — 9 '
wm/wam‘ (B) frouras s
© onEdw aEa (D) TEIEF A |
- MURA 501 N [ P.T.O.
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52. 'SiE F T Y@ qgA FaEH A’ — T A Ywitwa o ¥

(A) favoo geEy Cod @) Fran favem gEy
e - (D) = Ry |
53. U 3TN’ el w1 A9y |
(A)  ATTHM FH T | _ 'yﬁuamm'
(€©) F@r Ia (D)  && 9= |
54. ‘3 WA 7Y
@& 7w A B) st 3R Fr 9w
yer e 8 S M A &S
e5. ‘FR F e A we w el d |
(A)  FEE w AR W F B wEe e § wg R E e #
(C) Tt T wE - DY @0 FW F 9RO o T # e
56. W ' | :
WA afsta e - (B)  IwafhET # 5w
(C) Evar wed Hufa (D) &S A |
57, wra foem # agyE wara’ #1 e @ :
@& o fafy W wEm (B) T 1 4IM
yqsﬁf&ﬁ%ﬁrwﬁ'wmaﬁ (D) A% 3TeATI| gR1 9T & faeor |
58.: mﬁam%mm%
) fg W ' ' (B) ¥W & W
g i T (D) ¥ | FE T |
59. famfai # wmo & wfa +f9 & fawm & forg yoneht 1 yfiv ga@ sifus
(A wHu (BY HIETERR
() TR UBr ST |
. 60. 9T IV Y GEM ¥ :
(@A) = ) o UB—"91
© @ (D) <T§ I
L L | 501
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0 SECTION - II -
E,\f@-l L’LSH - I LANGUAGE I
ENGLISH
There are 30 questions in all in this Section.

All questions are compulsory,

31l. An important assumption of Communicati?e Language Teaching is that language
learning is learning to .
(A)  speak accurately |
(B)  write correctly
Ly communicate effeélivel)?

(D) master the grammar of the target language.
32. The four basic language skills are
(A)  listening, speaking, understanding and expressing
(B) reading, writing, speaking and communicating ,
(C) listening, reading, 'speaking and communicating
(LU~ reading, writing, listening and speaking.
33. Evaluation in a teaching programme
(A)  takes place only at the end of the year
(B) takes place only at the end of a lesson _
\JQ)" is a continuous pro.cess and goes on during lessons also
(D) is not an 1htcgral part of teaching. ‘
34. In a Matching Test students are asked to
L)&)" match the related items in two columns
(B) replace an item with a matching item
(C) complete a sentence with a matching item
(D) match unrelated items in two columns.
35. A language prolficiency test aims at measuring
(A) how much a learner learnt over a specific peric;d of time
W:leanmr's knowlcdge of ‘the whole language’ |
(C) a learner’'s knowledge of the rules of speaking

'{D} a learner's knowledge of the content of a book.

—
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37.

38.

39.

40.

41.

42,

43.

44,

The teaching of English aims at enabling the learners to
(A)  only understand the spoken or written language
(B)  only expressour thoughts and feelings in speech or writing

(C)  produce good literature in English

LT both understand and produce spoken or written language.

The Grammar-Translation method

(A)  emphasizes listening and speaking

(B) - pays no attention to reading and writing
Uer™ has its major focus on reading and writing

(D) emphasizes reading and listening.
A

One of the principles of the Direct method is that
& classroom teaching should be done only in the target language
(B)  both the first languége and the target language should be used in the classroc
(C) literature teaching should be the major focus
(D) students in the classroom should only listen to the teacher's lectures.
‘elevision is an example of multimedia because it combines the mediums of
‘/[Ak' pictures and sound " (B) pictures and images
(C) sound and voice (D) sound and music.
Which one of the following is not a visual aid ?
(A  Blackboard B Radio
(C) Charts (D) Word cards.
Which of the following has all the words beginning with the -same ( consona
sound ?
LA™ sun, city ' (B) kite, city
(C) house, hour (D) umbrella, university.
Which of the following has the same vowel sound ? '
(A) trip. treat, try (B)  good. food. push
Uer™ she, see; seat (D) 'pen, man, head.
Choose the correct phonéu‘c symbol for the sound at the beginning of the word ‘thi
@w st/ | LB /0/
C /th/ D) /al/.
P‘i;k out the correct phonetic l‘.ransériﬁtion of the word ‘'bridge’ :
&) /briidz/ = . _ (B) * / braldz /
() / brig/ PF— / bridz /.

[ | [s01]
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45. To which of the following questions will the sentence “People in the villages o
Rajasthan lead a very simple life” be an appropriate answer ?
(A)  Why do people live in Rajasthan ?
(B)  Where do people of Rajasthan live ?
(C)  Why do people of Rajasthan lead a simple life ?
W1~ What kind of life do people in the villages of Rajasthan lead ?
46. Which of the following phrases has a determiner in it ?
JA The conclusion (B) Of two years
_ (C)  Social Development (D)  Watching television.
47. Which of the following has the correct structure of a question ?
A) When she did reach the station ? ~(B) When she reached the station ?
\'[Q]" When did she reach the station ? (D) When she had reac\hed the station ?
48. They will invite all the children.
The passive voice form of the above sentence will be
] All the children will be invited (B) The children will be invited by all
(C)  All the children will have invited (D) . The children would be invited. |
Prose Passage I ( Q. Nos. 49 to 54 )
Most children start watching television long before they enter school. Many doctors
have come to the conclusion that children up to the age of two years should not watct
TV. The doctors are of the view that the first two years of life are very important {o
the development of a child's brain. Spending time with parents and others encourages
learning and healthy physical and social development. As children get older, TV can b
watched to a limited extent. Children preparing to enter school can learn the alphabe
and numbers from educational programmes. They can also learn about wildlife or

nature shows. Television can be an excellent educator as well as entertainer fo
children.

49, Both the words ‘educator’ and ‘entertainer’ are

nouns - (B) pronouns

(C) verbs (D)  adjectives.
- 50. The verb in the clause ‘they enter school' is in .

(A)  Simple Past Tense . \)Bl/ Simple Present Tense

(C) Present Perfect Tense - (D) Present Continuous Tense.

51. In the phrase ‘a good thing’ the determiner used is
(a) good ' (B) thing
(C) athing ' Juby  a

52. Which of the.following has the three degrees of the adjective in their correct form ?
(A)  Cold, more cold, coldest
(B) Important, importanter, importantest
L1~ Long. longer. longest
(D)  Good, better, betterest.

(LU [so1] - | [ P.T.0
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53. Conjunctions in the Passage ( II ) are

dg}/‘ that, and . (B)

that, also

about, also.

54. The verb phrase ‘have come’ in the clause “Many doctors have come to

{(C) about, and (D)

conclusion ... " is in

(A)  Simple Present Tense (B)
L,(Q)/‘ Present Perfect Tense (D)

Prose Passage II ( Q. Nos. 55 to 60)

Simple Past Tense

Past Perfect Tense.

People in the villages of Rajasthan lead a very simple life. Their way of living has n

changed over the years. They live in circular huts. The walls of these huts are cover
with cowdung. Every hut has a small place for worship. The life ofithese people is ft
of difficulties. It is very hot in summers and cold in winters. Water.is a major probler
Sometimes they have to walk a long distance to get drinking water. For the

\

agriculture they depend on rains. But these people are very brave. They have learnt

face difficulties and they never lose hope. They also like to enjoy their life. Women li
to wear dresses full of bright colours. People living in villages in Rajasthan have a ri

tradition of music and dance. The people of Rajasthan are very proud of their culture

55. Which of the following words is a synonym for ‘brave’ ?

“(A)  hardworking l}B]/ valiant
(C) prosperous (D) enthusiastic.
56. The antonym of ‘bright’ is
~ (A colourful ' (B) transparent
[(SF dull (D) dark.
57. Which of the following words is correctly spelt ?
\_/(R_)/ definition (B)  defination
(C) difination (D)  definetion.
58. The adjective ‘simple’ can give us the noun
(A)  simplify (B) simply
(C) simplistic (D) simplicity.
59. ‘The way of living’ can be replaced with the word
(A) livelihood (B) liveliness
(© lifelike B lifestyle.

60. Whfth of the following is an adjective formed from the noun ‘music’ ?

(A) musician \y/ musical

(C) musically (D)

(BRI | [501]
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Lb VEL 1- e SECTION - Il
EN&'LI SH"I ’ LANGUAGE I

ENGLISH

There are 30 questions in all in this Section.
© All questions are compulsory.

61 Peer assessment takes place when
a studént’s work is evaluated by one or more students of his / her group
(B) a student’s work is evaluated by all the teachers
(C) a teacher’s work is evaluated by all the students
P) a teacher's work is evaluated by a student.
62. Which of the following is not a purpose of evaluation in education ?
(A)  Assessment of attainment
(B). Measurement of the value of teaching methods
L& Collection of information about the parents of learners
- (D) To diagnose difficulties of learners.
63. A good language proficiency test :
(A)  is entirely made up of only one type of questions
(B) focusses on Essay Type questions alone -
(C) is completely based on Objective Type questions
U&7 is a combination of Objective Type, Short Answer Type and Essay Type
= questions. :
64. A Remedial Teaching syllabus should be based on
(A) the teacher’s impression of language difficulties
#B) students’ interest in learning a\}gnguage )
b@)/an analysis of errors made by learners
(D) an analysis of the future needs of the learners.
65. Remedial Teaching pays greater attentjon to students who
(A)  are proficient in English ' (B)  are likely to go abroad
(C) have fallen behind others 4D)  are irregular in attending classes.
66. Which one of the following is not an important principle of language teacfung ?
(A)  The students should learn a language by doing it.
(B) The students should proceed from the concrete to abstract.
(C)  The teacher should try to motivate the learners.
- B The teacher should always tell jokes in the classroom.
67. The correct order for teaching language skills is
(A) sffezddng.\ listening, writing, reading
(B) speaking, writing, listening, reading
L4y listening, speaking, reading, writing
(D) listening, reading, speaking, writing.

(AR | 501 [ P.T.O.
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68. One of the tasks of the teacher in Communicative Langnage Teaching is to
(A) collect information about e social backgrouid of the wevat
QB determine the language needs ol the learmers
(C) provide suitable classrooms (o the learners
(D)  send progress reports to the lcarn(rrs'-purenls.
69. The main aim of Communicative Language Teaching is 1o
.JA-)/ provide communicative compeience Lo fearners
(13) focus on the structure ol the tardet langauge
({C) emphasize the use of English as a library language
(D)  encourage learners to speak like native speakers of Knglish.
70. A healthy approach to a language learner's errors requires that the teacher should
(A)  condemn the errors
(U3~ look upon the errors as a teedback to the {eacher
(C) punish the learners for their errors '
W)  completely ignore the errors.
71. The total number of consonants in English is,

12 L 241

) 20 : ( 6.
72. 'The lirst sound in the word ‘eat’ is transcribed as

@) /ea/ : B - /el/

< s1/ t— /i /

73. The last sound in the word ‘push’ is {ranscribed as

/17 ®  /sh,

© /s/ i) /ch /.
74. Which of the following is the correct transcrintion of the word “wide' ™
(A) / wald / (n / wild /
{C) / wide / i) J vald /.
75. Pick out the correct transcription of the word ‘books’ '
"JdM / b kz / (£3) / books /
JQ) / by ks / (I)) / bookz /.

76. The modal ‘could’ in the sentence “So. students could progress in their. :u-qmsition‘..."
means ' '
(A) « Students actually progressed in ...
(B) It was possible for students !o‘pmgrcss in. "
JOF~ Students had the permission to progrcss‘ ) o B
(D) It was not necessary for studenis (o progress in ...

77. The wedding has been put off unti! December.
The phrasal verb ‘put off here means

#) Postponed Can.-elled i
p .
A Fixed up (D) .Brought forward.

(IEN RO 501 |
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78. An elegy is a poem written
(A) to celebrate an occasion
(B) in the praise of God
(C)  to give expression to our love for someoné

LP‘)/_ in the memory of someone who has died.
79 \ sonnet contains

(&) 16 lines ' B 14 lines

(C) 12 lines (D) 10 lines.
80. All the dialogues in a drama contain the thoughts and feelings of
L)A)/ the characters (B) the author
(C) the audience (D) the director.

Poem ( Q. Nos. 81 to 85) 3
I have seen dawn and sunset on moors and windy hills
Coming in solemn beaufy like slow old tunes of Spain :
I‘have seen the lady April bringing the daffodils,
Bringing the springing grass and the soft warm Apr}l rain.

I have heard the song of the blossoms and the old chant of the sea,

And seen strange lands from under the arched white sails of ships

But the loveliest things of beauty God ever has showed to me

Are her voice, and her hair, and eyes, and the dear red curve of her lips.
81. “Like slow old tunes of Spain” is an example of

(A) metaphor (B) personification
LT simile _ (D) assonance.
82 |1"Ships” of line 6 rhymes with
(A)  “Spain” (line 2) L@ “lips” (line 8)
(C) “"sea” (lineb) (D) “daffodils” ( line 3 ).

82  The use of ‘old’ in “Old chant of the sea” tells us ttlat
" (A)  the chant was popular in the past
(B) the sea is no longer young_
e the ch\émt has been there for a long time.
(D)  the sea has been singing an old song.
~84. Which of the following lines shows that the speaker has travelled a lot on the seas ?
(A) Line 2 (“Coming in ... ") .(B) Line 4 ( “Bringing ... ")
\(CFrmLine 6 ( “And seen ... ") (D)  Line 5 “I have heard ... " ).
85. . The most beautiful thing God has shown to the speaker in the poem is

(A)  Lady April _(B—Tis beloved

(C)  Soft warm rain (D) Daffodils.

[T - [s01] [ P.T.0.
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Prose ( Q. Nos. 86 to 90)

86.

87.

88.

89.

90.

L - [so1]

I~ it cannot provide human contact

There have been immense advances in technology in most aspects of people's lives,
especially in the field of education. Nowadays, an increasing number of students rely
on computers for their knowledge. Moreover, computers have been helping some
students to progress in their studies quicker than they did in a traditional classﬁpom.
In the same classroom, students have different intellectual capacities. Therefore, some
would be tied to a slow advance in their studies because of others’ inability to move at
a faster pace. So, students could progress in their acquisition of knowledge at their
own pace using computers instead of learning from teachers. As a result, some people
believe the role of teachers will now become less and less important in the future.
However, the presence of a teacher is essential for students because the human
contact influences them in a positive way. Students realize that they are not dealing
with a machine but with a human being who deserves attention and respect. They also -
learn the importance of studying in a group, which helps them improve their social
skills. Moreover, teachers are required in the learning process, because they
acknowledge students’ weaknesses and help them to solve their problems on an
individual basis.

The word ‘Therefore’ at the beginning of the fifth sentence of the first paragraph

indicates )

(A) Comparison (B) . Similarity

(C)  Strong possibility W Logical result.

Pick out the correct verb form to be used in the sentence "The role of teachers .........

more important now” : '

(A) have become (fB~"has become

() had become ' (D) is become.

Which of the following can be a possible title for the above passage ? -

Can Comi:uters Replace Teachers ? |

4B) Can Teachers Replace Computers ?

(C) Advances in Technology

(D) Traditional Classrooms. -

Computers allow students to

(A)  control the teaching process (B) solve their teachers’ problems
\/fC)/ learn at their own pace (D) improve their social skills.

One of the limitations of a computer is that

A) it knows much less than a teacher !
(Bl it ig less efficient than a teacher

(§) it cannot provide the latest knowledge.
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Y LEVE- 4-gog "
g - I
uTeT - 1
SANs KRIT->T] o
RS L
373 foerq e |wf=
T gy FHIEA: |
JEd =iyl ufeen weE TEm 61 d: 67 T Y ST e —
g = vew fygarfet =,
féen garefa = ser=n |
ez ggfAcyamT =,
T e
61. & sAHET faed ? -
() v LB T
(C) FTF (D) == |
62. ‘'fygenfet’’ sora &: wod: ? '
LA~ forfa ® ™
A == (D) A
63. ‘fraea’ s gad: & ?
@A)  FHERE: (B)  FeFEYE:
_(€) - =gsife: © &1 |
64. ‘dmgAa’ T &: @fe: 2
@) Fu (BT |
© < |fu (D) AR wfa:
65. varkstar o= fay ? .
TNEEEE-CE (B) EyEYH
©) e (D) — g |
66. ‘@' gheyee faem v fF waq ?
A) fparfet B) wW
p (O s (D) a4 |
L | 501 |
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@A) T oA (BL—2arq: + 319
(€)<Y + g (D) <3+ 3L + Y |
68. YeArgH wfafauy ? .
() fafaug : - (B uEEg
NC—Tafavm | (D) e |
69. HERFauTIITYIam Fagey warhive faed
LB— FauH_ ' (B)  TETYOH
(© " ' (D) G | \
70. ‘Serevvntl weqE faneE wuaq] 3fa = fafa: 2
(&) gAfafy: B)  Frmafafy:
(€) =AEAfEty: Dy smmAfafy: |
71. wrEEaE: fafy: #: 2 '
A i B =menay:
€ gAfafu: (D) swTEAfEfy: |
72. Toeoi wfast e wq ?
() fafufa: B
© T Dy v |

| v T stuRigE frafata: v o 739 79 W weA: HWgEn: —

Sy F AN HEFlA: 2 T WO 9 dhR: WS s @ | gepta: e fufd w0t )
fawdepfay yrdtg depfa: g | YRdE @d: seeiaren gfa — ‘wd vas gieA:,
‘ggia FgEF, oeHaq waydy ', AfEE wEYH:’, (Agaq WeRy WEey dread TR |
I H&Rfa: UHIuE], Fuign-Aesgad 9| | wH%, qAs, HaER: 9 39 YAl
fagrm: |fx | 9ora, @, sifEamEn: 9 3 gew add | faafeas gesmn: 9 aRdEETd
ITAAA | '

73. WYY FIgU: HTEN: Wﬂ'ﬂ ?

() TgE SV i
© fagaq (D) wrEaq |
L - (801 ]
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74. '=gYa’ vom wfy fawe: ww: —

() Fgw -+ 5= B) agH+ g
g + T (D) =g+ $9 |
75. 'WSeaq’ SAGER: FA qeuHg: ? |
W  TERy (B w9y
NS icck| (D) Fa7 |
76. 'HEwH' THA F: Y9I ?
(A THY : | B T
© = | D" | '
77. 'R 3 & U ?
W wE ® W
< 3 UD—a3: |
78. '®HH%EH' T %h: GHE: ? .
(A)  degEn: L/(B)— FHUA:
(€ =Esife: D)  FB:
79. '‘"w@pfa: m: frid w0fa" s o awi afadaa —
Uy HEd 7A: fde sftafa (B) EEHfd: #7: fdem sl
(©) wwFHfa: 9a; fade Fafq , (D)  wEpf: 7 fiem s |
80. WTPHTTAHETARITHII Afe
W T < B v
© wHfay (D)  SrHvET |
81. weEAly e dfernt feafi sufad #igerea TR WA F0r: 2
AL—TfaT= ; (B) TIFH
© afer O) T |
. 82, HEFAWTH HATH FEA W FE FA Fdd ? '
W e ' B) =
\JQ)FWW (D) STHRTETE: |
i | Fry —
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83. AT AUHFIYATATY SACHIHT T —
(A TEEEH (B) =EgEq
(C) Ts=aEHA AP T T |
84. TRarureRs qhemia w1 qhan fovawfn #ea 2 |
L FFERIE (B)  TOOTIIET
(C) H&ThRTa (D) fofeaedean |

85. mﬁf&rﬁamamwmmaw—
g, f s qu faaem @ € |

A  F: @ e 9 faeed m=sta uu)/n:a?c*eiafa'amﬁwn}:
(C) ¥:3E o 9 faemed sy (D) W: 3 © 7 foue™: =mME: |
86. azaﬁwmwwmﬁq?
L B =
© @va: | ’ (D) W |

87. drHfE HIMUAT —
" fage v g=sfa 1

@ fuegm Tt BT fusEm v Tty
() @ faFw v g=afa (D) & fuag o et |
88. Frofefamas: Tafama i wH T —
TR THA T oo, T T |
@ o ®) -
o BT - ©
@ g e B oNUS @ W e e
(©) T JEH T (D) 37 q&I&: 9S04 |
90. '3’ FRH &R0 wWH fE ? '
S E (B) FU3S:
(C) IR 3T: (D) - S | .
I, 5] e
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LEVELﬂ:' 20/% Section - IV / @UE - IV - A
MATHEMATICS / Tfota ) / / 0/ /"/
There are 30 questions in all inthis section.
Al questions are compulsory.
HEATHFA 30THE |
it et ¥

91. “Mathematics is the gate and key of all sciences.” These words are said by

\

(A) Roger Bacon - (B) Hamilton
(©) Plato ' (D)  Bertrand Russell.

‘wifore, @t faml W gR wE it B 1A v R ¥

L})/_?mﬁﬁh——iﬁ (B) e 3

0 @A | D) SR WEd
92. In a child which virtue is developed by the study of mathematics ?
(A)  Self confidence (B)  Logical thinking
(©)  Analytic thinking “|__{D—"All of these.
o % ST A T a= # e T feE 2 | |
iA) reAfavard _ ' (B) ke | @
|_to fawsifos da O AT S
93. The importance of mathematics at primary level is
(A)  cultural (B) mental
(C) practical (D) re]jglqus.

- Wiy T W | #1 e @ , '
() =R (D) s | @

[ESIERA] | - [s01 -
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94,

95.

96.

68 Y|

Principle of ‘General to Specific’ is used in

(A)  Inductive method (B) Deductive method
(C) Synthetic method ; (D)  Analytic method.
| fafre’ 1 fagr o 8 | frad wdm @ @ 2

@A) @A fafy : | Mﬂ fafy

() ey fafy (D) fowero fafy |

In which method in mathematics, db we usually take help of formulas and rules ?
(A)  Synthetic (B) Analytic

.(C) Induction .- (D) - Deduction.

nfora | farm fafa 4 &9 wra: g3 qon frawi &1 Sea on € 2

A HwE | B favemm

©) T e T

~

.Two labourers can do whitewash of a school in eight days. Then how many more

labourers will have to be employed to get the work done in two days ?
A 8 L/(B)/ 6
) 2 (D) 16.

et foemera =t g &1 #, < A9 6 A H F Fwa € 1 W FE & A H @ FEH F
feru foham meigt iR & w2 2

w 8 ‘ B 6

©c 2 (D) 16.

(HIEAIERI) 501 5
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Ram has 3 children and Mohan has 5 children. Each of them spends a sum of
Rs. 450 per month on the education of their children. Then whose monthly average

expenditure on education per child is more and by how much amount ?
(A) Ram. Rs. 60 . (B) Mohan, Rs. 90
(C)  Ram, Rs. 150 (D) Both are equal, zero.

T % R § 3w 4ied & AR § 5% § | Fedch I Al 1 e W 450 To wiEE =
FAE Wmmmﬁﬁﬁmmmm@ﬁwém@ﬁﬂ?

M, 60 %o _ (B)  HIEd, 90 %o

98.

99.

-

(C) M, 150 %o D) aﬁmw%yﬁ i
If a person sells a thing of Rs. 90 at 16‘V0 profit, then the selling price is
A Rs. 90 (B) - Rs. 80
(& Rs. 99 (D) Rs. 100.
U =R 90 o N FE F 10% TN W AT ¥ | 39 AR F kI qeq &
(A) 90 %o (B) éO To
o 99 %o (D) 100 %o |

What will be the simple interest of one year on Rs. 500 at the rate of 1% monthly

(inRs.) ?

@) 55 B) 50

© 5 | (—®0.
500 %o T 1 T4 FT Tl AT 1% WiEFH A #0 &m (FTAH ) ?
W ss @/ 50

© s D) 60.

WL 501 _ | P.T.0.
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100. If a person sells a thing for Rs. 90 at a loss of 10%. then what is the cost price of the
thing ?
(&)  Rs. 81 ~ (UB—"Rs. 100
(C) Rs.99 (D) Rs. 101.

T A ot g F 10% TH9H & 9y 90ﬁoff'&am%ﬁwammamrm%
A)  81%o | tB) 100 %o
(C) 99%o | | . (D) 101%o |
101. The place value of digit 5 in the following four numbers.
5821, 8521, 2851, 1285

is respectively
V(ﬂ)/ﬁve thousand, Five hundred, Fifty, Five
(B) Fifty thousand, Five thousand, Five hundred, Fi_fty
[C) Five hundred, Fifty thousand, Fifty, Five
(D)  Fifty hundred, Five thousand, Fl\;re. Flffy.
frafafed ar densti § % 5 &1 wura uH
5821, 8521, 2851, 1285
wHY: ¥
AA) ﬁmﬁaﬁmﬁ ./ (B) T EW, W T, W W, v

(C) U= H, v=9 §9R, Y99, 9" (D) 9=E |, 9" TR, i, 999 |
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102. The total population ( male and female ) of a village is 4054. If the number of males is

2896. then the number of females is
(A)  .5940 (B) 1068

Q1158 ' _ (D) 1148.

wfﬁamﬁm( T T TEW ) 4054 ¥ 1 A TEE F HEA 2896 &, A el w1 wen
Eauil '

(A} 5940 _ (B) 1068

[€) 1158 , (D) | 1148.

103. There are 642 students in six classes of a school. If the number of students in each

class is equal, then how many studénts are there in each class ?
w17 \_)H/ 107
© 71 (D) 170.
w e % 6 FEel § e faafdl #1 Hen 6423 | afe o wen § ot 71 e g
&, @y wan § faa faenefi ¥ 2 S
w17 B8) 107
c 71 (D) 170.
104. The value of 10 coins of 25 paise is not equal to |

A ’ 2 coins of 1 .rupce + 1 coin of 50 paise
(B) 1 coin of 1 rupee + 3 coins of 50 paise '

. (C) 2 coins of 1 rupee + 2 coins of 25 paise
(D) 2 coins of 1 rupee + 1 coin of 50 paise + 1 coin of 25 paise.
25 T8 F 10 faasl #1 7o foa § @ fares awe 721 & 2
W 1% F 2fFFF + 5070 F 1 ‘
iR 1w | fadR + 50%8 3 s
© 1%%2@3&:_&5%% PAREL]

LBr 1% ¥ 2 foa¥ + 50 ¥ @ | FerT + 25 98 w1 T e

LT - - [s01] - | [ P.T.O.
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105. If we divide number 4 by number 6 then the dividend, divisor, quotient and remainder

are respectively

A}

LB 4.6.0.4 B 6.4.0.6

(© 4.6.4.0 | (D) 6. 4.6.0.
T 4 T 69 WA 3 T W, IS, FITEA T AE F: E
(A) 4,604 (B 6.4.0.6
o 4640 (D) 6. 4.6, 0.

106. To create interest in subject mathematics in lower classes, the teaching method used,

- must be
(A) recreative and game related (B) crammin
(C) induction - (D) deduction.

B wensd ® o fawg § 9 3o 0 F fav, mwaﬁmﬁ'—nm
@A) TS TE Gd g (B) TeA
(©) aqua el (D) fATEA
i07. In which of the followi'ng.. the subject mathematics is not used explicitly ?
(A)  Loss and profit LB Cycling
(C) ' Purchase of vegetables - (D)  Loan.
et 1 1 g o s 1 e T w A A TR 2
@& - _.: - (B  EEfeEa F@
(©) wfswal wlET ' ' (D) SER & |

A | s
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108. Ram is playing and putting three balls as follows :

O ©) O O @) O
o O o OO O 0O OO O 0 O°

' O
Mohan is preparing a table looking to his play : ON®

Number of OOO signs ! 2 3

Number of balls 3 6 9

What conclusion can be drawn from their work ?

Mam is playing and Mohan is doing mathematics.
(B) Both Ram and Mohan are trying to generalize.
(C) Both Ram and Mohan are playing only.

(D) Ram is doing mathematics and Mohan is playing.
T @d 9d H 7 gwr | 9 WS w1 e 1w e o

®) O O O O @)
o O 0O OO O O OO O 0O O

3G TH @l ¥ HIE U qifersht o @ ¥

00 il # wen e e
el =t Te 3 6 9

3wl & w3 srce & o frerd free & 2

W T EE TR S e o

(B) maﬂ:rﬁﬁaﬁfmaﬂﬁaﬁmw@‘%|
© T s e A e de

D) mﬂﬁmaﬂl‘ﬂ%éﬂ'{q}ﬁﬁa'{@%’l

iy _—
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109. If a student gct‘s'failed in Mathematics a number of times then 1.0 know in which
particular branch of Mathematics is he weak, which of the following methods will be
used ?

(A)  Written work (B) Oral work
Mlgnoslic method (D) Remedial method.
) A)
afe s faenef, nford fawa & ¢ ar sl @1 5 @, @ @@ 9w & fou fF afoa = fea favm
v H a8 FHen €, e 1 | w-d fafu wd@m d @@ 2
(@A) fofaa s B)  HAifas w5
(C) AT adten (D) SYERHE qire! |
110. A student can gain speed in mathematical calculation by

(A) discussion or debate (B) oral work

(C)  written work (_’(Dj/ practice.

B ot o H A 9T R HES ¥
@) == 71 R faar gm B) dHifgw F@ g
(© fafea %@ gr (D) 3TAE g

[ RO | 501 -
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111. How many planes does a match box have ?

a8 | ®)
Jo 9 (D)
Aif=g 1 feealt & fape qa1 § 2
A 6 o (B)
© 9 _ (D)
112. How many lines can be drawn on a plane ?

(A) Three (B)
Mﬁnite | (D)

T qe W et e @i s wehdt § 2

@) (B)

(&) 3 (D)

Two

Nothing can be said.

QA

FO Tl Fe THd

ST-1

113. If a transversal line cuts two parallel lines, then which of the following statements is

not true for the angles formed between them ?
(A) Corresponding angles are equal

(B) Alternate angles are equal

(©) Sum of the interior angles formed on one side of transversal line is two right

angles

{'B)/SUI"D of the mterior angles formed on one side of transversal line is a right angle.

Tl | 501
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#fe & T T F e fdw v wed @ I A R F fe fe d d ae

Fye T A & )
B)  THER F R E
(©) ﬁdﬁi‘@%maﬁzaﬁ'mmﬂﬁmw&w*wm%

\B |ﬂ$i@%ﬁﬁ?ﬁmzaﬁﬁmmwﬂqﬁm%w@m% 1V

114. The weight of one litre of pure ghee is 910 gram. The weight of 700 millilitre ghee will

be

(A) 637 gm (B) 13 gm
Aer” 210 gm | : (D]'I 53-7 gm.
.@@aﬂaﬁrwmg;om‘%?ﬁﬁoﬁvﬁaﬁaﬁmwmm?
&) 637 7TM ® 137m

€ 210Um (D) 6377 |

115. The perimeter of a rectangular field is 1 kilometre. If the width of the field is

200 metres, then its length is
() 250 m (B) 800m
[ (9300 m | D) & kilometre.
T AEGFER Her w1 9fEm 1 fEele @ ruﬁ:wﬁm zoowﬂahh-mmﬁ%
(A) 2507t \ (B)  800H ‘_
& 3007 ) é fapairdier |

(RO (so1] -
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116. Arrangement of following fractions '
1 3 2 6
3'4' 57

in ascending order is

frafafaa fas
T 3 2 6
. f‘3'4’5'-7
1 TE U
w3328
117. .Thc expanded form of number 35-507 is
A) 30+5+i%+-1-gd (B)

5 7
y 0+5+76* 1000 (D)

@& 35.507 #1 fawfa w9 &

5 7
A 3Q+5+75* 700 (B)
5 7 '
AL 30+ 5+ 16 * 1000 (D)

L L 501
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6 2 3 1
7' 5" 4" 3
6 3 2 1
7' 45" 3"
6 2 3 1
7' 5" 47 3
6 3 2 1
7" 4" 5
7
35+5-+ITO'~0
; S 7 .
30+5+-100+1000‘
‘ 7
35+5+—100
: 5 7
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118. Write the following number in decimal form :

90+ 9+ 196 1066 * itﬁ%o—o :
(A)  99-999 | (B)  90-9999
(C)  99-9099 (1) ‘99-90909.
= dem =t qvmee v § fog .
90+9+_9_+T(?00 mgm
@ 99.999 417 B  90-9999 \
) 99:9099 L |_(2"99-90909.
119. Prime’ factors of nﬁmber 840 are
A 7x5x4x3x2 B 7Tx5x3x2x2x2
(C) 7x5x3x3x2 (D) "?.>(5x3x2><2.

& 840 F 319 TorREe ¥
(A) 7x5x4x3x2 | L/{@/‘?xﬁx{}x2x2x2_
(C) 7x5%x3x3x2 : (D) 7x5><3x2x2.'

120. The least common rnultiple ( L.C.M. ) and highest common factor ( H.C.F, ) of two

consecutive natural numbers are respectively

(A) their product, their ratio (B) their sum, first number )
| %
(C)  second number, first number (D) their product, number 1. |
. g
ﬁmmﬁm&ﬁmwmﬁawwmm:%
| . . L.
(A)  STH TUAHE, IR ST (B) 37 S, Yeed! dem
(C) . Tut e, el gemn | LMEBTWWI

IIIIIIIIII (501
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w g -V

D ENVIRONMENTAL STUDIES

There are 30 questions in all in this section.

79 ST-1

All questions are compulsory.
WETSH Fd 30THE |
Aty A §
121. Main aim _of evaluation is
(A) to maintain discipline
(B)  to conduct examination only
(C) to set question paper only
DD!/ to know learner's performance and bring impro.vement.
T F A IR
(A) A I TEA
(B) &ad &ﬂaﬂ T
(C) ZBFe T¥-9S S
™ sferTeRal 1 Suefed AT T GHR oA |

(VRN ‘ [ 501 | [ P.T.O.
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122. Which one of the following is cocurricular activity in science teaching ?

L}/Science club (B) Audio-visual aids

(C) Text-book

(D) Black-board.
ﬁmﬁﬁﬁ—ﬁmmﬁmﬁm-m% ?
(A) f‘omr—l FoTd (B) amqw arft

€) eaqEE (D) YIEYE | '

123. The process to separate impurities from water, butter from curd, small stones from

wheat etc. is _called

(A) Mixture

Mparation

(C) Filtration (D) Sublimation.

T # 9 o9fE, <€ @ g, 1€ A BI2 st AfE I ST & H R Y Fed &

(a) fazm (B) quaa»-tw

(C) B (D) SeEEA |

124. Which o.f the following statements is true ?

Wio—w‘sual aids are useful for students

(B) Chart and graphs are audio-visual aids

(C) Chaests are useful only in social studies

(D) Audio-visual aids are not importan.t for efficiency in teaching.

", s

-
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R R — .

(W #- e A ol % fad e

(B) aﬁqﬁmw-mﬁmﬁ%

) e F gEAM Faw wHitaew fawm § e s ¥

(D) foeo F o & o g=7-gva A geeyel 98 €

\
125. There is an initial test before actual construction of a test. The initial lest is called

-

(A)  Test planning (B) Test preparation

G —Flot study ) | (D)  Final try-out.
Qﬁmaﬁamﬁﬁﬁmﬁtﬁmmaﬁmﬁm | T gRftE S FE
(A)  Teqor Y FreEl S (B)  wi&or @t a9
) e = (D)  sfag grsg

126: Which of the following states/country is adjacent to Jaisalmer, Bikaner and

Sriganganagar districts of Rajasthan ?

(A)  Gujarat | ' (B)  Madhya Pradesh

(C) Haryana - t)Dl/Palgistan.
_ﬁmﬁﬁaﬂ.ﬂﬁ?—wwz%ﬂmﬂ#m, m;amaﬁfﬁﬂwﬁrﬁﬁmgfm%‘: ?

w | TSad (B) H TR

© wfEom | @) wfEwEE

(R 501 | (pTO.
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127. The name of first artificial satellite was
(A)  Bhaskar Lf(‘B‘( Aryabhatta
(C) Rohini ' (D) Edusat.
e FIEH ITE F1 AW o
() R - (B) . g
(€ fedh D) TugEe |
128. World En.vironmt'.nt Day is ce]ebrated. on

(A) 21st May (B) 27th May

M} June (D) . 14th November.

"

fave wafaror feag aamn s @
(A 217 | B) 277 |
(C) 594 (D) 14 Fam=r | |
129. Aquatic animals respire by
(N Lungs (B)  Book-lungs
(C)  Air bladder ' l_B/,c.illa
(A FwSigm - | B T TR

(C) - 49/ %9 g/ )  TAEES T

N ApBARI 501 | .
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130. Observe the follo“ﬁng statements carefully regarding National flag :
1. Uppermost colour saffron is a sign of sacrifice
2. Middle colour white is a sign of peace
3. Middle chakra is a sign of peace and happiness

4. Lowér green colour is a sign of peace and happiness.
The following is correct with regard to above statements : \
(A) -1 to 4 are correct
B) 1, 2, 3 are correct .':ind 4th is wrong
ﬁ/l‘. 2, 4 are correct and 3rd is wrong
(D) 2, 3. 4 are correct and 1st is wrong.
W 92 & an) § (= wyAl &1 gagrEyds SFaeeT iy ;o
1. 999 IW HAtE T @ e afaem &1 wdE
2. d=H !Teﬁ‘c.' T wifa =1 et
3. We H 9% Vifd Td QeI H Wil €

4. W T i v g A

IRH FIN F O A AT R
(&) 19 am ¥ ' _ B 1.2, 399%T@E47EdR

© 1,2, 499% w& 37§ D) 2.3, 499%0d 17TE@ ¢ |

g soi] .
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131. Morphological features found in the plants and animals according to the environment

are called ;
Maptatjons ‘ (B) Parasitism
Q) Modifications (D) All of these.

T 3 e e e e 8 T o A e e e ¥
S S (B SifEa
C) ® U= ‘ (D) 3=n?t gt |
132, Bird sanctuary of our state is situated in which district ?
(A)  Sawai Madhopur (B  Alwar
L})/Bharatpur D) | Udaipur.
TR T 1 vaf - vyanvy fog foa o feem & 2
() FEE AER (B) e
© AR (D) 3EX |
133. Which of the following is not true with respect to Air ?
(A; Aircraft can fly (B)  Air has weight
(C)  Air occupies space \_/(.B')/ Air has colour.
ﬁmﬁﬁaﬁmmmarg%waﬁvﬁﬂﬁ%? .
(A)  9FEAH ST (B) 99 ¥ WR g E

(C) /g T St § D) FEHTTEE |

(NN [ 501 ] y
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134. The energy stored in a spring of a watch is

WMechzlnical energy (B)

(C) Light energy ' (D)
wel #i fom ¥ dnfea s @

(&)  FitIE FHer (B)
(C) W Tt . (D)

135. Germicides used for drinking water are
Metassium permanganate and chlorine
(B) Potassium chloride and chlorlné
(C) Sodium chloride and oxygen

(D)  Potassium sulphide and chlorine.
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136. Observe the following carefully :

The above traffic sign indicates

(A)  Major road (B)
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Heat energy

Eléctric energy.

TS S

e o=t |

qrefygm seREs a9 FA

Oy WeEREE au FTAA |

Narrow bridge

(©) Railway crossing L)D)/ngaged road.
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137. Smallpox and Rabies diseases are caused by

(A)_—~irus (B)  Protozoans
(C)  Bacteria ' (D)  Nematodes.
B B U @& AT F FHRO B @
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138. We take food and digestion takes place. The useful substances from digested food are

aBsorbcd
(A) by wall of stomach \_/{B}/by wall of small intestine
(C) by wall of large intestine (D) in the liver.

7Y I H7d € TE g gl | 3W fed e o IwEe gl & steriem g @
W e dEE B O 3 F der |

(C) . gee 314 #I <Ear 9 (D) aFaH |

A (501 | o

New Section 1 Page 141



Y 87 ST-1
139. Plants synthesize food by photosynthesis. Following are essential during the process of

photosynthesis :
(A} Oxygen, water, sunlight and chlorophyll
(B) Oxygen, sugar, sunlight and water

L@/E’a‘rbon dioxide. water, sunlight and chlorophyll
(D) Carbon dioxide, SIL:gar. water and sunlight.
9 WY HYSTU I HISH I § | gty Hyermo R ® e oevas g €
(A)  FATFEISE, 9, g4 1 g TE gofsfa . \
(B)  cATedreH, ¥, g4 &1 Y9 T S
(© @ s, e, g4 1 T Td qoieii
(D) FTEA TEsEES, v, o T gd F  |

140. Normal temperature of human body is _

(A 33° Celsius (B) . 38° Celsius
(C) 986 Celsius M Celsius.
TME YR & W AOEE El ®
W 33 Afcu . (B 38 dfwEw

(O 986 AfcaTd (D) . 37 Afcw=d |

141. Minerals found in Udaipur and Bhilwara districts are

M. Lead, Silver and Copper )
(B) Zinc, Gypsum, Garnet and Gold
(C) Lead. Silver, Tungsten and Copper
(D)  Silver, Rock phosphaté. Tungsten and é}ypsumj.
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142. In which district of Rajasthan is petroleum pumped up ?

(A) Baran (B) Bharatpur

(C) Jodhpur ' L,(D}/Barmer.
T # g Tt § Seiferam fasren sman & 2 '
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143. Moon eclipse occurs, when <

Mrth is between sun and moon

(B) moon is between earth and sun
(C). sun is between earth and moon
(D) earth, sun and moon are in a straight line.
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144. National animal is |
(A) Peacock (B) Lion
L)Q/ Tiger : (D) Chinkara.
REARIS '
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145. Sun-city is the name of

(A) Jaipur '_ (B) Jaisalmer
(C) Barmer : (D) Jodhpur.
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146. Which of the following statements is correct ?
(A) Dowry custom is common in nuclear fam)»l’y
(B)  Child labour is common in nuclear family _
(C)  Dowry and child-labour are social evils
, (D)  Dowry and child-labour are common in cities.
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147. Human body remains only as a skeleton, due to
(A)  Tobacco consumption for a long time
(B) - Alcohol consumption for a long time
(C)  Drug addiction by family membcr-s
s (D) Tobacco consumption by family members.
e YR gfgdl &1 g 9 @ S €, T FRO
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148. Which of the following materials is not used for construction of a house ?.

() Cement | B) Iron

(C)  Stones (D)  Scooter.
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149. Wool is obtained from
(A)  Hair of Sheep, Camel and Yak
(Bj Hair of Sheep, Lion and Camel
(C)  Hair of Camel, Elephant and Rabbit

(D) Hair of Cow, Goat and Sheep.
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150. The houses of Monkey, Lion and Rat are sequentially
A nest, tree and cave (B) cave, burrow and tree
(C) tree, cave and burrow (D) burrow, tree and cave.
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